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[ Chemistry : Section-A (Q. No. 051 to 085) |

51  Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1' position of sugar is known as

nucleoside
Statement II : When nucleoside is linked to

phosphorous acid at 5 '-position of sugar moiety,

I we get nucleotide.
In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is true but Statement II is false.
(2) Statement I is false but Statement 1T is true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement II are false.

52  The conductivity of centimolar solution of KCl
at 25°C is 0.0210 ohm™! cm~!"and the resistance
of the cell containing the solution at 25°C is

1 60 ohm. The value of cell constant is -
(1) 1.26 cm™! @) 334 cml
3) 134 cm! (4) 3.28 cm™!

53 The correct order of energies of molecular

orbitals of N, molecule, is :

(1) cls<c"1s<c2s<c" 2s<c62p, <
* * *
c 2p, <(1t2px =n2py)<(n 2p, =1t-2py)
3 (@ ols<d ls<c2s<c*25<(ﬁ2px=n2py)<
(n*2px ='r|:"‘2py)<0'2pZ <o 2p,
€)) cls<c* ls<o2s<c” 23<(1t2px =1r2py)<
* * *
c-2pz<(n 2p, =T 2py)<0' 2p,
(4) cls<o'1s<c2s<o” 2s<o2p, <
(1t2px =7 2py) < (ﬂ* 2p =7 2py)< ¢ 2p,

54  The number of ¢ bonds, © bonds and lone pair
of electrons in pyridine, respectively are :
1 11,3, 1 (2; 12,2, 1

1 (3; 11,2, 0 4) 12.3.0

55 The element expected to form largest ion to
achieve the nearest noble gas configuration is :

1 ( 1; N (2) Na

3) O 4) F

56 Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R : . e
Assertion A : Helium is used to dilute oxygen
in diving apparatus. ) B ,

1 Reasons R : Helium has high solubility in O,.
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is true but R is false.
(2) A is false but R is true. . _
(3) Both A and R are true and R is the correct

explanation of A. ]

(4) Both A and R are true and R is NOT the

correct explanation of A.
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ST Ru T Hul  enur ux AR fg g faaedt

¥ 4 wd s giul

(1) = I 9d & aig A H ewd 8

Q) w1 o ¥ wg w11 9 1

(3) w1 3R ® I 3F |9 ¥

(@) w1 o w1 AT ora €

25°C wt KCl & ¥&mm faoms @&t el

0.0210 ohm=! cm~! ¥ &l 25°C wx freg=

A &1 TRAT 60 ohm ¥1 & Retiss w1 A1 ®

(1) 1.26 cm™! (2) 3.34 cml

(3) 134 cm! - (4) 328 em!

| N, oy % R onfvas wermt A St B wd wE

(1) cls<c’1s<c2s<c* 2s<o2p, <
( *
c" 2p, <(7t2px =‘n:2py)<(1t"‘2px =7 2py) ,
(2)..cls<0'* ls<czs<d*25<(n2px=n2py)<
(Tc* 2p, = " 2py) <o2p, < G 2p,
(3) ols<o” ls<025<c*25<(32px=n2py)<
‘6 2p, <(1t*2px =n*2py)<c§* 2p,
@) c_ls<c*ls<62s<c*25<02pz<

(1'c2px =7 2py) < (n*pr = n*Zpy) <c" 2p,

M 11, 3,1 Q) 12,2, 1
(3) 11,2,0 4) 12,3,0

Ty fag

¥ ¥ wd s ghg

(1) A@d ¥ uig R s@d ¢l

(2) A o@d ¥ wig R @@ &I

(3) A iR R & ¥ ofX R, A ol G&l e €1

4) %%Tkaﬁw%,cri@R,Aaﬁaaw
.
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57 Complete the following reaction
O-HeN Qi
CN
[A] [B]
conc. H>SO,
A "[C]
[C] is ;
(D @CPIO
2
Q) O—COOH
@ (oo
58  Consider the following reaction and identify the

product (P).

CH; —-CH-CH-CH;
... 4
CH, OH

3- Methylbutan— 2-ol

—HBr 5 product

) CH3—'CH—ICH—CH3

CH, Br
CHS 3

|

(2) CH;~C~CH,Br
|
CH,

Br
I
(3) CH, —(l:—CHz -CH,

CH,

(4) CH; CH=CH-Cll;
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i T B

frmfafad Oﬁ
o1 CN
[A] 2
i, H,S0, 0
A 4
[C]%& -
%) QCHO Y
0 O
“) Q—COOH
Prefefaa efifear wx frame @I ofT T (1

H eIl

' CH,-CH-CH-CH,

| (I:H3 ([)H S T )
3 — Afireg¥-2 — i
(1) CH,~CH-CH-CH,
(!TH3 l[3r
CH,
@) CH3—cI:—CH2 Br
C|H3 '
Br
3) Cl..lj—(:_‘~CHz—CH]
CH,
(4) CH, c11=c1—1~cn3
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20 Which amongst the tollowing options is corvect | 89 Pyuyfubiag o & o -0 alas & (e we wh grhnd

graphical representation of Bovle’s Law? {oyeyu ¥ 7
i ~
T T I 3 - '2 > l 1
r p
0 M 1,
‘\_ o
By i',.
N
7
4 YW—>
Vv
AN ™~ | v,
T 1 vy
g P
@) )
V<V, <V, V,<V,<V,
, > 3
T— I 3
s A
T T3> 15> T, T ST,
p P
(3) (3)
Ty L
e 1
13, 15y
V—> 4 \ — /

(4) 'l_'"‘lV"'ll (4) //////,," ‘\>i:;>1~"

’ /",:/
/4
—) /~ —
N — K—

60  Taking stability as the facton, which one of the 60 wilis @) @ite @3 gU AR ] R - 8w

following represents eorrect relatonship? HaY oan eid l’ ‘
(1) AICI= AICI;  (2) TH = Tl (1) Al AKY (2) T > 1,
(3) TiCly ~ HCE 4y duly = Il 2 (3) N = 1L (4 Bslg > bad
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- complexes is -

ldentify the Product in the following reaction :

-
o Na €
() CusBr, /HBr
(il) Mg7dry ether
W Product
- MgRBr OH
(1 @ © .
4
: i Br

OH
03 WD)

Homoleptic complex from the following

€))
)
3
)

Pentaammineca.rbonatocobalt (II) chloride
Triamminetriaquachromium (III) chloride
Potassium trioxalatoaluminate (m

Diamminech]oridonjtrito - N - platinum (I

Intermolecular forces are forces of attraction and
repulsion between interacting particles that will
include :

A. dipole - dipole forces,

B. dipole - induced dipole forces.

C.  hydrogen bonding.

D. covalent bonding.

E. dispersion forces.

Choose the most appropriate answer from the
options given below :

(1) A,B,C,E are correct.

(2) A, C, D, E are correct,

(3) B, C, D, E are correct.

(4) A, B, C, D are correct.

The stability of Cu2* is more than Cyu*
aqueous solution due to -

(1) hydration energy.

(2) second ionisation enthalpy.

(3) first ionisation enthalpy.

(4) enthalpy of atomization,

salts in
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e sififaar & ST A vy
N2Cl

i) CuzBrleBr

(ii) Mg/{;ﬁsimﬁ\
(i) HyO {

MgBr OH

Br
. OH
3) @ (4).©
ﬁw%f@amﬁﬁﬁtﬁéﬁaégﬁr%z
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(3)
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Match List - I with List - 11 :

List -1 List - 11

A. Coke I.  Carbon atoms are
sp? hybridised.

B. Diamond 1. Used as a dry
lubricant

C. Fullerene II. Used as a
reducing agent

D. Graphite IV. Cage like

\ ‘molecules

Choose the correct answer from the options
given below :

(1) A-II, B-I, C-1V, D-II

(@) A-IL B-1V, C-I, D-I 1

(3) A-IL, B-1V, C-1, D-lII

4) A-IV, B-1, C-lI, D-1lII

Which of the fo!lowing statements are NOT-

correct?
A. Hydrogen is used to reduce heavy metal

O\Ides to metals.

Heavy water is used to study reaction

mechanism.

Hydrogen is used to make saturated fats

from oils.

The H-H bond dissociation enthalpy is

lowest as compared to a single bond

between two atoms of any element.

E. Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the

options given below :

(1) D, E only (2) A, B, C only

(3) B,C,D,Eonly (4) B,Donly

The right option for the mass of CO, produced

by heating 20 g" of 20% pure llmestone is

(Atomic mass of Ca = 40)

B
C.
D

[CaCO %CaoJrcoz]
(1) 2.64¢g ) 132g
(3) lLi2g “) 176g

Given below are two statements : one is labelled
as Assertion A and the other is-labelled as
Reason R :

Assertion A : In equation A G =
of A .G depends on n.
Reasons R : E_,, is an intensive property and
A G is an extensive property.

In the light of the above statements, choose the
correct answer from the options given below :
(1) A is true but R is false.

—-nFE value

cell?

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true and R is NOT the

correct explanation of A.
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Tl - 1 g - 1% arg frara ff

Th- 1 - 11
A, ww 1. chré« LETiL|
sp3 damfeer ¥
B. ¥ Il 9% ©es % g
¥ g frmrr«fxrrcn (4]
C. W 1. e & waifa
Wrﬁmm%l
D. ﬂmz Iv. fi
%ﬁqmﬁrﬁﬁﬁvﬁmﬂﬁq
(1) A-II, B-I, C-1V, D-II
(2) A-III, B-1V, C-lI, D-II
(3) A-ll, B-1V, C-I, D-11I
4) A-lv, B-I, C-1I, D-lII
Tr=fafaa & @ S9-9 FuT g a8 £ 7
A.  ETIEISH B SUENT AT UTg STl B argeAl
¥ qafaa e & g Rear s &)
B. 4T 5t &1 suyar arfuatean Sranfafy & eraaa
% fog foren @ ®1
C. eTsgior %1 SN Il d g q@neil &1 g
% fu fepam s #1
D. el off a@ ¥ & yovel & 9 TaHA aEd

ﬁwﬁHHmaﬁrﬁmq—éﬁw
Bl &)

E. wEgi omae @ erfus fpanshiar argetl &
3ffeaTgel B eufad we o

R faw T feedl ¥ @ W@ Swgw SOX ghg

(1) %=a@ D, E " Q) %W A,B, C

3) ‘c}ﬁmB,C,D_,E (4) ®Haa B,D

20% = T 9T &6 20 g B TH S F IAA

'CO % 7emE % g w8 fameq ¥ 1 (Ca &1 qumg

aamﬁ =40 %))

[CaCO _1200K . ~20+CO ]
(1) 264¢ ) 132¢
(3) lL12g 4) 1.76¢

I 3wy R g ¥ 1 uw B oifme A’ ST gE
w1 ‘Fwel R’ fafea fear mn g

st A : @Bt A G=-nFEy W, A G &
A n WX PR @

FT R : By A% e § o A G TF
At Tere 1 ~

U &g T e & e uy, A e g faemea
¥ @ wé sav gh:

(1) A@dE uig R owd &

(2) A @™ ¥ uig R 9 ¢
(3) AaﬂTRa‘m‘rw%aﬁTR A & g8 =rE

%
(4) A 8T R u &, ©d R, A &1 €& =men

ECil
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Select e

vorrect stmementy from (he
otk ng

A At o all cloms We composed of two
Tundamenial Prticles

BT maa o the clecton iy
Vw0 M Ly

L AL I aopes of o piven element yhiow
M Chomieal Properies

D Prvton and clectiony are collectively
Anown ay iy, feons .

t

Dalion's avomi, theony, regarded the atom
aan wlimare particle of matier

Chame the correet answer
given below

1Y A and only

(2) B, C oand | only 2
() A Band ¢ only

) C.Dand L only

from the options

For a certam reaction, the rate = k[/\]2 [B]. when
the mitial concentration of A is tripled keeping
concentmation of B constant. the initial rate would
(1) increase by a factor of nine.

(2} increase by a factor of three. 1

(3) decrease by a factor of nine,

(4) increase by a factor of six.

Grven below are two statements s onc is labelled

3y Assertion A and the other is labelled as

Reason R

Assertion A @ A reaction can have zero activation

energy,

Reasons R : The minimum extra amount of

energy absorbed by reactant molecules so that

their energy becomes equal to threshold value,

is called activation cnergy.,

In the Light of the above statements, choose the

correct answer from the options given below :

(1) A s true but R js false

(2) A s false but R s true

(3) Both A and R are true and R is the correct
explanation of A

(4) Both A and R arc true and R is NOT the
coriect explanation of A

Which of the following reactions will NO'| give
primary amine as the product”?

) Cline~-Sirh

» Product
(u;ll:;‘u:-

" ~ " y “u’»{{l\llij/ "
12) LHJLUNH: w0 & +» Product

(3) CHy CONH, —22 M0 L oy

(4) (.“5( ‘N LT - Product

unilyhe
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i wh wndl w1 T Axfany .
{epprfrfran @ oy 210 A KU Ay g
A wh aeft B T 2 9109 7 10 kg gy
" paszta 5 Pzl

L1
¢ fwinam ",";h
D Zn,jty: e gl 34U g
LY a4
h g % w0 W 'ﬂﬂ! ‘
v oy o ot 8 8 oA T g
(1) #aa A 4t L
(2) wam B.C AL
(3) #am A B A1 C
(4) #am C. D ATE
fan fuforz wfufzm % P
A = k[A]Z[n] &nﬂeﬁmmﬁ’nm
o1 A A1 e wrzen & T A1 A E, A iy
an -
(1) = % 7oz gro 3z 7ol
(2) @@ % s gra 7% AT
(3) @ & E Z0 oAz AT
(4) w: % TmE FO AZ AN
A 2 30 fry m 2 oE # A A st ey
A ‘arm R fafza fam mm by
afuxax A : fah afufzn £ g a5fzam s 0
nxA by ‘ -~
T R oafwanE o 0 saviivs g
sfafran o 1w fasd T8 S 2w &
A 0w, wiauw s seara b
BT fan 0 e & srer W, e g no faeed
a8 wh T g -
(1) Adat grg R swa b
(2) A sH@ ¥ 5T R wa by
) AshiRar vt MR, A 91 w9 wren
t

() AR vt qrg R, A @ w6 e
h by

fonfifan sifwfaa sy
wiufne 0diq w§ 24y

yrsrfoom, A L8,

A8 @ yqg 5w d
(M) CiyNe Ry

nnll,\lc,

@) CHCONR, DLy

\5(!“;(!:”' 3““
) CH, CONp, vbf;J_*_'fL,wn

LS FENTT

() Cinen YT f » IR
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T4

s

e

Qe tranegudisurs sex b

foated Fa!
frowm the 1.,{1,,..,.,,1 ﬁ,gh’_g tov |
(1) YVatuaen
(21 Vervmgd
(3 € hlewdeasngrs i

(4) Megrebemay

The given wwmmpeemed
CH = CH -3¢ €3, 38,

" an exsmple of —
(1) allyliec haluie §2) ow
() besrylc helute (8 o

Waight () of two meles
compemnd, winch w cbtamed
cthancate wah walinen Bryefen
calcmum onsbe

(i) o iZy N
3) 1% i%) 3l
A compound =5 frmed v
B. The clorment B lorms ¢

@€

structurs and stoms of
totrshoniral vouds I the freee
A B then the vadwe of |

(i 3 2y 2
(3 ¢ 4 4

Amongst the ginven opta
following mudeculos | wa x
(1 BF, 2y
3) NH, 4y |

In Lassangne’™s extract of a0
both mitrogen and sulphur
gives bl red colcer w
tormatson of -

. e
(1) j:({.’\k%"
@) [Fe(seN)T”

e L
3) Fe‘gf:{C\g‘v vH

=

(4) NaSCN
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Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Valium

(2) Veronal

(3) Chlordiazepoxide 2

(4) Meprobamate

The given compound ‘
CH=CH - (IDH - CH, CH,
X 1

is an example of .
(1) allylic halide” (2) vinylic halide

(3) benzylic halide (4) aryl halide

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is : ' 4
(1) 30
3) 16

() 18
@ 32 4

A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound
is AxBy, then the value of x +y is in option
(1 3 2 2

3) 5 (4) 4 3.

Amongst the given options which of the
following molecules / ion acts as a Lewis acid?
(1) BF; (2) OH- '
(3) NH; 4) H,0 1

In Lassaigne’s extract of an organic compound,

both nitrogen and sulphur are present, which
gives blood red colour with Fe3* due to the

formation of -

(1) [Fe(CN), Nos]"
@ [Fe(seN)]"

3) Fe4[Fe(CN)6:|3 -xH,0
(4) NaSCN
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'%@qsﬁw@a@ﬁﬁqw%wﬁﬁaﬁ:{—m

i & dafua &7
(1) 3fwam
2) I
(3) TRSFIAUTFES
4 "AW=AE
o war At
CH=CH—(}3H—CH2 CH,
X
BT TH IIEI 21
(1) Uil ¥ogs (2) - anfiiws toms
(3) AItsfas tags  (4) Uha Tamss .

i oifFTEs @ SuRaRY § Wifsad wR W
QA TESEAES & 91U TH B I S BEh

- AT W BT B, SEH Q1 Hal B 9K (g) ¥

(1) 30
(3) 16

) 18
4) 32

T AT &1 a@l A iR B g0 9 9 § 1 B
aig fiae dgiva dxa a9 € ok A % 9w
1/3 ageserara fifemal o s ¥ 1k difte & g
AB, & @ fymedl § § x +y B AE T

1 3 2 2 :
35 (Dot

fag TTq el ¥ @ BF-W0 A/ AT GEH S B

TE AT Bl & ?
(1) BF;
(3) " NH4

(2) OH-
(4) H,0

fopell Aiftres & A Prepd § TIREOE SR qewT QY
Iuftaq & W Fe3* & qra frefaiad & <99 & sror
@I B Hifd W 1 dar ¥

(1) [Fe(cN),nos]"
@ [Fe(seN)]*

(3) Fe [Fe(CN),], - xH,0
(4) NaSCN
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Identify product (A) in the following reaction &

)UQ(

Zn-Hg
conc. HCI

([)H
W C“‘
‘ CH,0H
3
@) CH;
CH
3) /\O/Q/
_-QH. &
“
OH

+2H )

80  Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Metallic sodium dissolves in liquid
ammonia giving a deep blue solution, which is

paramagnetic.
Reasons R : The deep blue solution is due to

the formation of amide.
In the light of the above statements, choose the

correct answer from the options given below :
(1) A is true but R is false. 1

(2): A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

Both A and R are true but R is NOT the

correct explanation of A,

4)
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)

g (A) B TEEIb
eyt P
0]
(0]
Zn-Hg '
—izncr )20

?H

CH')
@ - CH,OH

2

(€))

1 3 U Ry T ¥ 1w o o A? ST R

& ‘& R’ fafeq fear mrd)

AFE A : uifes wife g b § gEal

et Mt 1 @1 Ryerm e 3, Gﬁ\'ﬂWﬁﬂT%l

TR £ T A e e 3 e 9
|

ST T T et % e oy, S fg T R

74 wh e gh

(N AW%QT@RGW%l

(3) %\aﬁTRa—’ﬁW%aﬂan@gﬁw@T

{ el
T ) TR, A @
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Which one of the following statements is
correct?

(1) The bone in human body is an inert and
unchanging substance.

Mg plays roles in neuromuscular function
and interncuronal transmission,

The daily requirement of Mg and Ca in the
human body is estimated to be 0.2-0.3 g.
All enzymes that utilise ATP in phosphate
transfer require Ca as the cofactor.

The relation between ny, (n,, = the number of
permissible values of magnetic quantum number
(m)) for a given value of azimuthal quantum
number (/). is

)
3
G

(M) n, =2+1 () n, =l+2

nm—l

3) I=
©) 5

4) I=2n_+1

Amongst the following, the total number of
species NOT having eight electrons around
central atom in its outer most shell, is

NH;, AICl,, BeCl,, CCl,, PCI, :
(1) 4 2) 1 3
G) 3 @ 2

Which one is an example of heterogenous
catalysis? .
(1) Decomposition of ozone in presence o
nitrogen monoxide. '

(2) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.
Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

Hydrolysis of sugar catalysed by H* ions.

Which amongst the following molecules on
polymerization produces neoprene?

(1) H,C=CH-C=CH
CH, 1

|
(2) H,C=C-CH=CH,

(3) H,C=CH-CH=CH,

Cl

|
(4) H,C=C-CH=CH,
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Preafafag mes & A d-w wh ¥ 7

(1) wir qrlve & vl ua iy oht aufadada
g ¥ .

Mg slataifsaa dafva wrduomdr ot
afrcaifaea Y ¥ vt frma ¥

wra grire § Mg aht Ca 91 & A
0.2-0.3 g et @ wt ¥

T v @ widee wrer § ATP @
aqdnt & ¥, % g ge-ued & w0 H Ca
arragad ¥

(2)
®)
)

feistva Faren de (/) % fdt R o AM % fom
n, = (Jadvg F@ien gen (m) & agaa wH A
T % 9 @y 3

() n_=2%+1 () n,=l+2

@ 1=l 1= 4
Pretfifiae & o whsitr o g1 de i F4m
T & SR B9 36 AT SN A FAa
wWE

NH,, AICI,, BeCl,, CCl,, PCI;

(1) 4 @ 1

) 3 @ 2

frfefaa & & wF-a1 fawaitt Serw &1 ST
27

(1) e AT &t SeRafd 3 ofEm @
AIEA ‘

(2) 7o qitfa o ot Sufafa § st T M
% fT STEIEEeT ol SREREeH & S TaeH
(3) g & orferssl @ SuRufy N wewt
SRATIES &1 Teh{ TRATRS § RS
(4) qdbw @& HY g g Saifta seqees
frafafed o @ @F-w e & W Faids
T BN 7
) I12C=CII—C'="CH
cl‘u_,
(2) H,C=C-CH=CH,
(3) H,C=CH-CH=CH,
%‘l
“4) lIZC=C—ClI=Cll2
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Chemistry

: Section-B (Q. No. 086 to 100) |

On balancing the given redox reaction,

a (‘r_\O_;" +b SO§ Rk (nq) +ent (ml) -
2a (“r‘“(aq) +b S()_‘I" (nq) +‘:- ! l:()(")

the coeflicients a, b and ¢ are found to be,
respectively -
(O 1.8 3
(3 1.3.8

D 81,3
® 3,81

The reaction that does NOT take place in a
blast furnace between 900 K to 1500K
temperature range during extraction of iron is
() C+CO, »2c0

() Ca0+5si0, - Casio, 3

&) Fe,0, +CO — 2FeO0 +CO,

#) FeO+CO—Fe+ co,

What fraction of one edge centred octahedral
void lies in one unit cell of foc?

(1) @) -

17 1

G) @ 3

(S T Ny P

Which amongst the following options is the

correct relation between change in enthalpy and

change in internal energy?
(1) AH-AU=-AnRT
(2) AH+AU=AnR

(3) AH=AU- An,RT

(4) AH =AU+ An,RT

Match List - I with List- II :
List - I (Oxoacids  List - IT (Bonds)
of Sulphur)
A. Peroxodisul- I.
phuric acid
B. Sulphuric acid

Two S-OH, Four S=0,
One S-O-S

II. Two S-OH, One S=0
C. Pyrosulphuric  III. Two S-OH, Four S=0,

acid One S-0-0-S

D. Sulphurous acid IV. Two S-OH, Two S=0
Choose the correct answer from the options
given below :

(1) A-l, B-1lI, C-1V, D-lI 4

(2) A-lI, B-1V, C-Il, D-l

(3) A-l, B-ll, C-lI, D-IV

(4) A-lI, B-1V, C-1, D-lI
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86

87

88

89

90

20

g- (aq) +cH (aq) >

C
. bsOf{(ﬂQ)*’szo(g)
@ 813
4 381

drare et W A 900 i

frepdor & :

1500 K war % i i
£y

(1
2
3)
“)
fccﬁwmmﬁmﬁww
fiftr @1 R sigr SuRerm wiam ¥ 7

@ -

C+CO, 2CO
Ca0 +Si0, - CaSiO;
Fe,0, + CO — 2FeO + CO2

FeO + CO — Fe + CO,

(N 2

—_—

W |-

3) 4)

= =

Frafafa freet & ¥ BF-—ar TSe® giedy o
i Hat aiadT & 9wl g9y 37

(1) AH—AU=- AnRT ,

(2) AH+AU=AnR
3) AH=AU—AngR'T

(4) AH=AU + An_RT

- LH - 1 ¥ e fram @i -

T -1 T I0

(et (vris)

ST
A. TIFTRTE- L & S-OH, ar $=0,
' T S-0-S
II. ¥ S-OH, ws $=0
lll. &Y S-OH, ar $=0,

T S-0-0-S .
D. ¥ oy, g S-OH, & $=0

(1) "A-1, B-111 C-1v, D

» B-111, » D-II
(2) A-1, B-1V, ¢, D-|
3) A, B-111, C-y, D-1v
) A-111, B-1V, C.1, D
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Identity the final product [D] obtained ‘in the
following sequence of reactions,

D LA, 11,80,
Lot Al —45— (8]

: Br

Na/dry cther [D]

CH,CHO

1Br N [C]

(H
()

Cyllyg

HC = C© Na*

.8

Which complex compound is most stable?
(N [C0C|2 (cn)z:f NO,

@) [Co(Nl»l;)b] A(394), 1
3) [Co(nmy), (1;0)Br](NO;),

“) [Co(NH3)3 (no,), ]

(3)

€Y

Consider the following compounds/species :

i |||

vii.
The number of compounds/species which obey
Huckel’s rule is

(1 2
(3) 4

@ 5
(4) 6
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aifufpaal % Preafafad w9 ¥ ura eifem Sarg [D]
CA A B :

CH,CHO > [A] %04, [g]
Br

HBr >[C] T > [D]
(1) C4H,,
(@) HC=C® Na*

@)

P-a gt D T o e £
) I:CoCI2 (en)z:l NO, |

@ [co(NHy), ] 4(504),

3) [CO(N“3)4 (“zo)Br](Nos)z

) [CO(NH3)3 (noy),]

Prerfafae S / whofi e frare difer:
‘ S
2

e

T Bhel FROH @1 g B AT Ay [ wliehe
o e ¥
(1 2
(3) 4

@) 3
4) 6
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Which amongst the following will be most
readily dehydrated under acidic conditions ?

N()»

CH3

) /K/\[/
N2
l

OF

Which ‘of thehfollowing statements are
INCORRECT?

A. All the transition metals except scandium
form MO oxides which are ionic.

B. The  highest oxidation number
corresponding to the group number in
transition metal oxides is attained in Sc,0;
to Mn207.

C. Basic character increases from V,0; to
V204 to V205

‘D.  V,0, dissolves in acids to give VO salts,

E. CrO is basic but Cr,0; is amphoterlc.

Choose the correct answer from the options
given below :

(I) C and D only
(3) A and E only

(2) B and C only
(4) -B and D only

Pumice stone is an example of -
(1) solid sol (2) foam
(3) sol (4) gel 1

The equilibrium concentrations of the species
in the reaction A+B=C+D are 2, 3, 10 and
6 mol LI, respectively at 300 K. AG® for the
reaction is (R =2 cal / mol K)

(1) —1381.80cal (2) —13.73 cal

(3) 1372.60 cal (4) —137.26 cal
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Prafiftgg § 4 @F-T ot wRRafal & ga@
il srar @ freifea s ?

H "
M )\hm

OH
NO,

OH

NO, OH

3) CH,
H

OH OH

4)
H,C
ERE

frafafea & ¥ FF-9 Huw o 78 27

A Wfeaw & efafea @ dwaor agd MO
RS T & o emafe B ) '

T _ :

V03 q V,0, & V,05 3t 3t s wt ard
AT qgar &1

D. V,0, sl % gast VO3~ @aw ar ¥

E. CrO arfg ¥ swf®s Cr,0; vt ¥

A fe T e ¥ & W@ s gh:

() I Cak D (2) Fw Bk C

3) ¥ AME (4) ¥Faw Bk D

B.

C.

Gid T IR
(1) 3y diet ®
(3) §W W

) B ®
4) S W™

300 K ut afiftear A +B=C+D ¥ sy =)
AT Higa e 2, 3, 10 oK 6 mol L1 &y
affspan & fig AG® & (R=2 cal / mol K)
(1) —1381.80cal (2) —13.73 cal

(3) 1372.60 cal (4) —137.26 cal
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